WARREN COUNTY SCHOOL DISTRICT **PURCHASING OFFICE** (814) 723-6903 ext. 2188 Fax (814) 723-7065

MEMORANDUM

TO:

Amanda Hetrick amando Effetuck

\$12,636.95

FROM:

Kristie Bednez

SUBJECT:

FURNITURE AND PANEL SYSTEM QUOTE

WARREN COUNTY CAREER CENTER

ELLWOOD GRANT 2011-2012 School Year

DATE:

MARCH 1, 2012

I have listed below the results for the Furniture and Panel System Quote per James Young for your approval. Please sign and return to my office along with the correct BUN # to use when ordering.

	TOTAL QUOTE	LOW QUOTE AWARD
Watt Office Supply	\$13,890.36	
Mazany Contract Interiors	\$12,636.95	\$12,636.95
Sanner Office Furniture (This company did not include	\$13,557.00	

Low Quote Award

From: youngj@wcsdpa.org

To: Kristie Bednez <bednezk@wcsdpa.org> Date: Thu 01 Mar 2012 10:00:37 AM -0500

Subject: Re: Fw: PA State Contract Pricing for Warren County Career Center

The three quotes for the furniture and walls indicate that Mazany Office Interiors as the lowest quote. The quotes were comparable and include installation. It is my advisement to submit the order to Mazany Office Interiors at the price \$12,636.95.

James Young Director Warren County Career Center 347 East Fifth Ave. Warren, PA 16365 814-726-1260

*** This Email was sent by an educator at Warren County Area Vocational Technical School in Warren County School District - PA.

From: Kristie Bednez < bednezk@wcsdpa.org> Sent: Thu Mar 1 09:20:41 EST 2012 To: James W Young <youngj@wcsdpa.org>

Subject: Fw: PA State Contract Pricing for Warren County Career Center

Let me know which company you want to go with and I'll take everything over to Amanda Hetrick's Office and see where she wants to take this. Thanks,

Kristie Bednez Purchasing Office Warren County School District 589 Hospital Drive, Suite A Warren, PA 16365 814-723-6900 ext. 2188 email: bednezk@wcsdpa.org

BUDGET YEAR

2011 - 12 W.C.S.D. PURCHASE REQUEST

THIS WILL NOT BE PROCESSED IF ALL ITEMS ARE NOT COMPLETED

Equipment		(Ex. Textbooks)	SCHOOL:	Warren C	ounty Career Ce	enter		50	Qu	road .
OFFICIAL USE ONLY			Vendor: (Only One Ve	ndor Per Reques	t)	Within Approx	ved Budget	XY	es No
sixing extractly and	Requested	by:	Name of Vendor:				Building Approval:			
P.O. #:		D. Berry	Watt Office S	Supply			Delore		Berry	
	Date reque		047171	211		(Central Offic	e Approval		Principal
Vendor#:	Bldg:#:	12/19/2011	217 Liberty S	Street			Technology			Director
Ship to Bldg #: 42	blug.#.	7	Warren PA 1	16365			recrinology			
- A - Sec. 15 (1887) (1887)	Program:	Ellwood Grant for Machine Tech.		Fax 723-96	70		Date Approv	red 12/19/11	/	
WCSD BUN # & ACCT. #	Item #	Description/Code Info. &	Dates of Subscription	on (To Run From	- To)		Qnty.	Unit		Total
			(Use more than o	one line if necessa	ry)			Price		Price
Sample: 01 1100 000 00 00 00 640	UNV-14215	Hanging file folders - lega	I - 1/5 tab cut				3	11.62	A STATE	34.86
	HNP8136F	Panel System-Tackab	e Acoustical Pan	nels 81"H x 36"V	1		3	352.72	\$	1,058.15
	HNR8136H	Worksurface Height C	lear Glass Panels	s 81"H x 36"W			21	415.95	\$	8,734.91
	HNRC81	90 Degree Universal C	90 Degree Universal Connectors for 81"H Panels			2	72.13	\$	144.25	
	HNREC	Baserail End Cover (s	et of 2)				1	11.86	\$	11.86
	HNRW81	Wall Starter Kit for 81"	Panels				2	65.21	\$	130.42
	HBTR3048	Rectangular Top Table	es - 48"W x 30"D				12	133.5	\$	1,602.00
	BTB26	T-Leg Base with Caste	ers				12	107	\$	1,284.00
	HCLC18	18"H 4-Leg Chair - An	mless				12	77.06417	\$	924.77
		Per State Pricing (Contract						\$	-
		Ellevo	od &	rant				SHIPPING		
									\$	13,890.36
If Equipment, Trade-In?	Yes	No .	Make/Model:							E KEAR
BUDGET APPROVAL:										
	Mr. James M. C	Grosch, Director of Busines	s Services (or author	orized represemta	tive)	Br	andon Hufnage	el, Superintend	lent	



MAZANY OFFICE INTERIORS

NY: (716) 487-1617 PA: (814) 878-0078 www.mazanyoffice.com .

Warren County Career Center

James Young

USA 814-726-1260 youngj@wcsdpa.org

347 East Fifth Ave Warren , PA 16365

Pennsylvania State CONTRACT PROPOSAL

Quote Number: T1073

Date:

2/15/2012

Valid Until:

3/16/2012

Rep:

Toni Novello Interior Designer Mazany Contract Interiors 163 West 14th Street Erie, PA 16501

USA

Warren County Career Center -Contract #4400004656 & #4400004732

Qty	Part Number	Manufacturer	Group	Sell	Ext Sell
3	BPRA8236	TEK			
	Acoustical Raceway Po	inel			
				\$239.02	\$717.06
21	BPRG8236	TEK			
	Partly Glazed Raceway	Panel		\$309.69	\$6,503.49
2	BHP082	TEK		4007107	40,000,11
	90 Degree Post		1		
				\$49.95	\$99.90
2	BHWA082	TEK			
	Wall Adapter				
				\$21.09	\$42.18
12	CTRTA3048	TEK			
	Rectangular Worksurfac 30°d x 48'w	ce, No Grommet / No Power Module,	+	\$143.22	\$1,718.64
24	CπLDB242	TEK		\$140.22	φ1,/10.04
		leight, 24"d, Two Casters	T		
	r Log, orangara, ringari	019111, 24 0, 1110 0031013	I	\$60.83	\$1,459.92
12	NZOCAFNN	TEK			
	Zone - Stacking Chair, N	lo Arms	A		
				\$79.98	\$959.76
				Group Total Net:	\$11,500.95
	Installation			\$1,136.00	\$1,136.00
			Total Materia	al List Price:	\$31,523.00
			Overa	Il Total Net:	\$12,636.95
pprove	ed By:		Date:		
	Name				
			PO:		
	Title				

Qty

Part Number

Manufacturer

Group

Sell

Ext Sell

Pricing as detailed is using the manufacturers standard finishes. Pricing is subject to change pending confirmation of field dimensions and finish selections. Additional costs will be incurred if design or confirmation of field conditions is required. All products detailed above are subject to the manufacturers standard lead times at the time the order is placed. ALL ORDERS MUST BE COPIED TO MAZANY CONTRACT INTERIORS FOR PROCESSING. Please do not hesitate to contact me if you should have any questions or require any additional infomation.

Thank you for your time and consideration!

Signed:

The Purchase Order must be written to:

Teknion LLC c/o Mazany Contract Interiors 350 Fellowship Road Mt. Laurel, NJ 08054 (Contract #4400004732)

Toni Novello
Interior Designer
MAZANY CONTRACT INTERIORS
tnovello@mazanyoffice.com

ADDITIONAL PROJECT NOTES:



QUOTATION

Sanner Office Supply Co.Inc. 1225 State Street - Erie, PA. 16501 Phone: 814.454.6374 - Fax 814.454.0942 www.sanneros.com

To: Warren Co. Career Center

From: Louise North

Attn: Jim Young

Date: 2/14/12

Fax:

Phone: 814-726-1260

QTY	Item & Description	Price Each	Total Amount
3	HNP8136F Hon Initiate Raceway Panels, 36w x 81h	\$336.00	\$1,008.00
	Tackable acoustical Fabric: grade 2		4.05555
21	HNR8136H Hon Initiate Raceway Panels,	\$396.00	\$8,316.00
	worksurface ht glass 36w x 81h Fabric: grade 2		
2	HNRC81 Hon Initiate 90 degree connector	\$69.00	\$138.00
1	HNREC Hon Initiate baserail end cover	\$11.00	\$11.00
2	HNRW81 Hon Initiate Wall starter kit	\$62.00	\$124.00
12	HBTR3048 Hon 48x30 worksurface	\$126.00	\$1,512.00
12	BTB26 Hon set of 2 T leg with casters	\$101.00	\$1,212.00
3	HCLC18 Hon Accomplish cantilever student chair (carton of 4)	\$412.00	\$1,236.00
	Pricing is Dock delivery. No installation included. Pricing		
	based on customer list of material.		

Total \$13,557.00

Thank you for this opportunity. Please remember that the above are special order for you. The items are non-returnable and become the property of the above mentioned name/company. Items that can be returned (in good condition and in original packaging) may incur restocking fee, which will charged to your account. Shipping dates are estimated and Sanner Office Supply is unable to control manufacturers lead times and freight carriers, therefore lead time is not grounds for cancellation. We look forward to working with you. Please feel free to contact me anytime regarding this quotation.

Terms net 30 days	Sanner Office Supply Co.,	Inc.
ead Time 4 week		
This Quotation is valid for 30 days unless	noted otherwise /	Dave 1



Quotation

Date	Estimate #
11/17/2011	2011-398

217 Liberty St Warren, PA. 16365 Phone: 814-723-9140 Fax: 814-723-9670

info@wattofficesupply.com

129 W. 18th St. Erie, PA. 16501 Phone: 814-454-7181 Fax: 814-455-3092

Name	e / Address					
85 H	n County School	District		VA	ALID 30 DAYS	
	rren, PA 16365 Seekings			Attention	REP	Project
					TDS	Warren Co
Qty	Item	Color	Description		Quote \$	Total
12	HCLC18	91 (Navy) Y (Chrome)	T-Leg Base with Casters List \$214 \$20 Up Charge For Gromme Chairs - 18"H 4-Leg Chair 4 Leg Armless List: \$152	ets	77.06417	924.77
Γhank			nmercial Furniture and Design	Subtotal		\$13,890.36
	for y	our office furni	ture needs!	Sales Tax	(0.0%)	\$0.00
				Total		\$13,890.36



Quotation

Date	Estimate #
11/17/2011	2011-398

217 Liberty St Warren, PA. 16365 Phone: 814-723-9140 Fax: 814-723-9670

129 W. 18th St. Erie, PA. 16501 Phone: 814-454-7181 Fax: 814-455-3092

Remit to: P.O. Box577 217 Liberty St. Warren, PA. 16365

85 H	n County School Di ospital Drive	strict		V	ALID 30 DAYS	
	rren, PA 16365 Seekings			Attention	REP	Project
					TDS	Warren Co.
Qty	Item	Color	Description		Quote \$	Total
3	HNP8136F		Panel System - Tackable Acoustical Panels 81"Hx36"W			1,058.1
21	HNR8136H		List: \$714.00 Worksurface Height Clear G 81"Hx36"W	lass Panels	415.9481	8,734.91
2	HNRC81		List: \$842.00 90 Degree Universal Connectors For 81"H Panels			144.2:
1	HNREC		List: \$146.00 Baserail End Cover (Set of 2)			11.80
2	HNRW81		List: \$24.00 Wall Starter Kit For 81" Panels List: \$132.00	65.21	130.42	
12	HBTR3048		Tables - Rectangular Top 48"Wx30"D List: \$267.00		133.50	1,602.00
Γhank			nmercial Furniture and Design	Subtotal		
	for you	r office furni	ture needs!	Sales Tax	x (0.0%)	
				Total		

Page 1 Division of Watt Office Supply, Inc.